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1. A window is in the form of a rectangle surmounted by a semicircle. The rectangle
is of clear glass, wheras the semicircle is of tinted glass that transmits only half as
much light per unit area as the clear glass does. The total perimeter is fixed.
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For the variables » and v indicated above find the proportion of r to y for the window
that will admit the most light. Neglect the thickness of the frame.
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2. State the Mean Value Theorem {for derivatives).
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3. State the definition of Inx in ferms of an integral.

4. Use the above definition of logarithm to show that Ina -+ Inb = Inab.
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5. Solve the following indefinite inte@rals: f .,
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6. Find the volume of the solid generated by revolving the region bounded by y = 2—z*
and y = 1 about the r-axis.
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7. Find the volume of the solid generated by revolving the the shaded region about
the y-axis. ¥ '




